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Y.B. COM. (CHOICE BASE) SEM 111 / C0831 FINANCIAL ACCOUNTING AND AUDITING INTRODUQTL

[Time: Three Hours] = & [MarkS' 100]
N.B: All question are compulsory. '
Figure to the right indicates full marks.
Working should form part of your answer
Simple calculator is allowed.

e

Q.1 A) Select the most appropriate answer: (Any ten) A 10

1. Goodwillisan asset.
a) Fictitious
b) Intangible
c) Tangible
d) Current o

2. Operating Ratio is an 1nd1cator of
a) Operating efficieneys o & & =
b) Production efficiency. "
c) Salesefficiency =
d) None of theabove g

a) Unsecure Lnané
b) Cash;Baiance

vities of the business is known

is assumed to be hundred.
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7. Operating Cost Ratio is a
a) Balance Sheet Ratio
b) Revenue Statement Ratio
c) Composite Ratio
d) None of the above

8. Current Assets ¥ 1,80,000, Current Llabllltles ? 90*000 The amount of Workmg

Capital is
a) 90,000

b) €1,80,000
c) ¥2,70,000
d) None of the above

9. Comparison of performance of:z a company overa perlod of tlme on the ba51s of base
year is known as A 3 e
a) Cost Benefit Analysis
b) Comparative Analysls
c) Trend Analysis - -
d) Common Size Analy31s

B 10. To calculate the cash cost of workmg capltal debtor‘g
a) Not considered 0% o] R U
b) ConSIdered atco - %
c) ConSLdered at reahsable ’Vaer
d) None of the above

11. Capltal Budgetmg dec1510ns mvolve dec151ons relatmg to
a) -Fin ‘ancmg day to. day actlvmes

10

o wofking capital over and above the permanent working capital is
workmg capital.

‘ ga time element involved in Capital Budgetmg
' Capltal ‘Budgeting decisions are long term decisions.
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7. Liquid Ratio is used to determine the company’s longterm solvency '

8. A higher Debt Equity Ratio indicates a safer financial position-of the company

9. Outsiders contribution is not included in Proprietors Fund. ;

10. Revenue Statement indicates operating performance of a company

11.In Trend Analysis, the trend of each item is calculated on the basw of sales of the
Base Year. <

12. Owners Fund and Borrowed Fund are two constxtuents of Total funds ofa
company.

Q.2 A) From the following details of A Ltd. prepare a Comparative Balance Sheet m v ’rtical form
suitable for analysis. , S N

M/s A'Ltd.z
Particulars Amount (?):if Amount(?) Amount of e % of
31/03/2016\-:2 30/03/2017 change(?“) - change
' SIS ERLIL, ;(+)T/()i

Share capital 6,50,_00,0 RSSO 40,000 2
Reserve & surplus 250,000 | 2,00,000 ? ?
Debentures 1,50,000 ? (-)50,000 ?
Current Assets \ ? 3,00,000 . 40,000 ?
“ Long term Investment | = T SAR S A3 S 10000 10
Current Liabilities =~ | = = 2 | 2,00,000 (-)10,000 ?

Q.2 B) From the followmg detalls of B Ltd prepare Common51ze Staternent in vertical form suitable
for analySJS ' = &K .

(?)
# ; £ 8,33,000
§ Ret:urn Inward 3,000
. | Carriage Inward 4,150
~ . [‘Purchases’ 5,39,500
< "Openmg stock 8,300
~{-Closing'stock - 14,940
Office Expenses 99,600
,Sellmg Expenses 1,49,400
41,500

.*Fmance Expenses

OR
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Q.3

a.p. Code 22502

From the following Income Statements of Y Ltd. prepare the Trend' ncome Statement 1n &

vertical form suitable for analysis.

31.03. 2015

31032017 T

Following is the Trading,

Dr.

Particulars 31.03.2014 31 03 2016
() (f) (?) 3 ?)

Sales 75,000 90 000 1 08 000 1 29; 600
Less : Cost of Goods Sold 48,000 57.000 69.000 84,000

27,000 33,000 | = 39,000 45, 600
Less : Operating Expenses
Selling Expenses 7,500 9,000 6,000 : 1‘2;9«6‘0
Establishment Expenses 4,500 - 52505 5] 10,800 . 26,750
Interest on Loan 4,500 | 6,000 7,500 9,000
Depreciation 7.500 5003;' A 96,750 -~ 9,000 9,750
Profit before tax S30005 5 f< 8000 £ 5700, 27,140
Less: Provision for Income Tax |« - 1,200 | < 3,000 - { - 2775 | = 3.600
Profit after tax d 1 ;@Lﬂ & 8 M 1 2925 - 3.540

Cr.

Particulars

D
WL A

Particulars

?

To Opening stock’f‘ TR AR g
To Purchases

To Carriage. Inward

To Office E: enses

To Sales Ex ensés

TS 54,300,

- 27,000 |
> $2/900:
A 80004

~73:00,000

°3,27,450
8,550
90,000

2000

16,000
- 2,400

By Sales

By Closing stock
By Interest on Investments

8,00,000
44,000
5,400

s (Sto ck Turno\zer Ratio

OR
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Q.3 Following is the Balance Sheet of Z Ltd., as on 315t March 2017, .- « . . o . Kgd 1H
Liabilities g Assets | - ?‘ o :
Equity Share Capital 3,50,000 | Fixed Assets: ] -2,50;0004 - -
9% Preference Share Capital - 50,000 | Investments - SHS 50 000 4 -
General Reserve 15,000 | Stock, = S N <11 ol
Profit & Loss Account 45,000 | Debtors - ‘ 1,260,000+
10% Debentures 50,000 Cash ; SISl S [ 131 (13
* | Provision for Tax (Current 20,000 : ety SNl
Sundry Creditors 55,0004 . c?’,. S Z; NS ERIEISR N
585000) 33 caw“‘ =) [ 585000
X i \A)'q‘ ; o s:, S Q'. 4:\ s ).» i et A ::, "_A-f/ 3
Other Details for 2016-17: *Kani\"'z

1) Sales Z6,00,000 (80% on Crédlt basas)
2) Profit Before Tax ¥ 50, 000 N

Calculate the following ratlos
Current Ratio :

Capital Gearing Ratio.
Debtors Turnover Ratlo
Return on Proprletors Fund

Nk R e

Q4

, Cash Inﬂows (3) P.V.@ 10%
Machme Machine (of T1)
Alpha Beta
-'85,000 75,000 0.909
87,000 97,000 0.826
90,000 1,27,000 0.751
92,000 1,48,000 0.683
1,00,000 98,000 0.621
1,22,000 96,000 0.564
1,00,000 90,000 0.513
78,000 70,000 0.467
F2,88,000 ¥ 3,33,000
WY Z8,000 F3,000
SN L Also adV1se W 1ch machme will be selected applying the above methods.
DR T & OR
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Q.4
should be selected.
«Year Net Earnings Be“‘? :
MachineA Mac‘hin’e BE
1 1,10,000 |  1,45000]
2 1,2-'0;"!000 1,30,000 |
3 1,50,000 | 1,55,000 |
4 210000 2,15,000 S8
5 £ 2,30000 1 72k
6 002,409,000 4
7 200000 220000
Cost of the Machine : ?*2 10 000
Scrap Value ?19 000 |
Tax Rate éﬂ"%
Q.5

Cost per umt(?)
400
150
200
100
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Q.5 From the following details of K Ltd., prepare a statement of workmg capltal requlrements for 15
the year ending 31st March 2017. e ; T

1. Itisanticipated that production and sales during the year would be 5 00 0
2. The Selling Price will be ¥ 200 per unit. :

3. The expected elements of cost to Selling Prlce would be < ‘

Raw Materials 60%
Wages 10%
Overheads 15%

Raw materlal will be carrled in stock\equal to 3’ veeks consu

LNy LT s

10. Debtors are to be valued at: sellmg prlce 3
11. Company works for 50: weeks ina year.,
12. All activities are evenly spreadd Irin v;the,year..

“ Q.6  Answer the following. = .~ 7.0 o o G
A) What is working capltal 2 Explam the factors determmmg workmg capltal requirements. 10

B) Explain all Balance Sheet Ratios. ~ = - oo 10

Q.6 20
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